
Year 2 Homework Answer 

Module 2: Introduction to multiplication 

 

1. 

 a)  3 groups of 2 

  2 x 3 = 6 

  3 x 2 = 6 

 b) 2 groups of 3 

  2 x 3 = 6 

  3 x 2 = 6 

 

 

2. 

 6; 4; 24 

 5; 4; 20 

 

3. 

 2 x 4; 4 x 3 

 3 x 5; 5 x 4 

4. 

N/A 

 

5. 

4 6 20 15 12 

10 12 16 27 28 

14 16 18 8 25 

 

6. 

 5; 15; 3 

 

 

 

 



7. 

> = > 

< = < 

> = > 

 

 

8. 

× + + + 

+ or × –   –   × 

 

9. 

 a. ① 

 b. ② 

 c. ① 

 

10. 

2 4 2 

1 5 5 

 

11. 

5 × 7 8 × 3 8 × 3 7 × 8 

3 × 5 9 × 5 1 × 8 6 × 9 

 

12. 

13 15 9 13 

26 35 10 41 

 

 

 

 

 

 

 



13. 

63 18 12 24 81 

35 64 18 14 28 

27 12 36 25 3 

21 56 16 12 35 

 

14. 

 

 

 

 

 9 flowerpots 

 

15. 

 54 

 

 

16. 

 5 × 8 = 40 lollipops 

 

17. 

15 16 10 6 

15 16 10 6 

  

 Top row and bottom row are having same answer for each question 

 

18. 

 

2; 6; 3 2; 3; 6 

2; 3; 6 3; 6; 2 

 



 

19. 

     1) 3 × 5 = 15 sticks 

     2) 4 × 3 = 12 sticks 

     3) 4 × 5 + 4 = 24 sticks 

 

20. 

      4 × 7 = 28 days 

 4 × 9 = 36 days 

 

21. 

 9 × 7 = $63 

  

22. 

 3 × 6 = 18 people 

 

23.   

35 42 48 54 24 

49 56 63 24 81 

40 20 64 12 30 

 

 

24. 

  

1 2 3 

4 5 6 

7 8 9 

 

 

 

 



25. 

 3 + 6 = 9 

 4 + 5 = 9 

 

26. 

 N/A 

 

27. 

 16; 20 

 

28. 

 6 × 8 = 48 tiles 

 

29.  

 7 × 9 = 63 students 

 

30.  

 4 × 7 = 28 green apples 

 28 + 4 = 32 apples 

 

31.  

 7 × 2 = 14 times 

 

32. 

 5 × 2 = 10 cups 

 

33.  

 9 × 4 = 36 legs 

 

 

 



34. 

 5 × 6 = 30 lily flowers  

 

35. 

 5 × 6 = 30 children 

 30 + 3 = 33 children 

 

36. 

 3 × 5 = 15 potatoes  

 15 – 2 = 13 potatoes 

 


